Potencias de 10 (D)

8=10

72100

6010

19 +1000

56 +-10

78 = 1000

49 =100

43 = 1000

5110

96 =10

Calcule los siguientes cocientes.

96 =10

70100

60100

28 =100

801000

23100

5810

8910

58 = 1000

3510
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Potencias de 10 (D) Respuestas

8+ 10
0,8
72+ 100
0,72
60+ 10
6
19 = 1000
0,019
56+ 10
5,6
78 - 1000
0,078
49 =100
0,49
43 = 1000
0,043
51+ 10
5,1
96+ 10
9,6

Calcule los siguientes cocientes.

9610
9,6
70100
0,7
60+ 100
0,6
28 +100
0,28
80+ 1000
0,08
23100
0,23
58 +10
5,8
8910
8,9
58 =+ 1000
0,058
35+10
3,5
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